




3. Circle the two numbers which 
are equivalent.
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3. Circle the two numbers which 
are equivalent.
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Solutions
1. 508

2.
2

16
(or 

1

8
simplified)

3. Circled
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https://whiterosemaths.com/homelearning/year-5/


https://wrm-13b48.kxcdn.com/wp-content/uploads/2020/05/Y5-Lesson-2-Multiply-4-digits-by-2-digits-2019.pdf


https://wrm-13b48.kxcdn.com/wp-content/uploads/2020/05/Y5-Lesson-2-Answers-Multiply-4-digits-by-2-digits-2019-r2.pdfhttps:/wrm-13b48.kxcdn.com/wp-content/uploads/2020/05/Y5-Lesson-1-Answers-Multiply-2-digits-area-model-2019.pdf


















https://kids.classroomsecrets.co.uk/resource/year-5-multiply-2-digits-area-model-game/

